“E £ KaBdpoeig ovoiiv ae mifmin i =

£ g £ 8 H i€ Qb 300mI/min kau Qd 500mi/min EE w <

£ 3 §38 |w3s e y £
$28 222 |SiE < m m s g § g 9
wes 58% 2VR g 2Ed 5 @8 2

Oupia Kpeartivivn # Dwodopikd _ But. By, _ Ivoulivn
LOW

SYNPHAN 2.3 10,95 273 253 234 144 - 1214 - B2 Electron beam
POLYSIUM 2 16,2 195-275 189-249 170-212 121-137 - 1260 - B2 ATUOC

‘OAa ta napandvw $idtpa arpokdBapaong cuvobetovral and aptnpraki-GpAeBikn ypappr, katdAAnAn yia ta pnyavipata ayokdBapong mou Stabérouv ot Movabdeg Texvntold Nedpol
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Oupia | Kpeanwivn | @Qwodopika | Bit.B;, | Ivouhivn
HIGH
1.2 45 242 221 206 142 90 736 - Al y-aktwvopolia
PEPA
NMoAvpepLopévo 21 63 260 244 231 170 113 961 0,88 Al y-aktwoPolia 400
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OAa ta napandavw ¢iktpa aipokaBapong cuvodevovrar anod aptnpuaki-pAepikn ypappn, kartdAAnAn yia ta pnxavipara aipokdBapong nov StabBérouv ot Movabeg Texvntod Nedpol




